OVERHEAD GATE HARDWARE

1L Overhead Jamb Track Hardware List
(not shown)

ST

18 19A

1R Power Arm - Right

1L Power Arm - Left

2 Inner Thrust Bearing

3 Main Pivot Bushing

4R Main Pivot Bracket - Right
4L Main Pivot Bracket - Left
5 Outer Thrust Bushing

6 Flat Washer 3/4”

7 Nylon Threaded Nut 3/4”
8 Label 2" X 117

9 Lower Pivot Bushing (x2)
10 Lower Pivot Pin (Tapered)
1" Lower Pivot Pin Retaining Clip
12 Lower Pivot Bracket

13 Kicker Roller Bracket (3”)
14 Kicker Roller Shaft

15 Kicker Roller

22 Spring Bracket Hardware

22-5 Spring Bracket Hardware ( 57)
23 Connecting Link (3” & 4”springs)
23-5 Connecting Link (5" spring)

24  Spring Connecting Link Bushing(x2)
24-5 Spring Connecting Bushing ( 5”)
25 Spring Connecting Link Bolt 3/8”
25-5 Spring Connecting Link Bolt 1/2”
26 Spring Connecting Link Bolt 1/2”
26-5 Spring Connecting Link Bolt 3/4”
27 Connecting Link Nylon Nut 3/8”
27-5 Connecting Link Nylon Nut 5/8”
28 Connecting Link Nylon Nut 5/16”
28-5 Connecting Link Nylon Nut 3/8”
29 Spring End With Saddle (3's 47
29-5 Spring End With Saddle ( 57)
30A Spring-3”

15A  Kicker Roller w/Smooth Shaft(3”) 30B Spring-4”

15B Kicker Roller w/Threaded Shaft

(4" &5")

30C Spring-5”
31  Spring End With Nut (3" &4

16 Kicker Roller Retaining Clip (x2) 31-5 Spring End With Nut (5

17 Track Roller Bracket (2pc)

18 Track Roller Shaft

19 Track Roller 3”

19A  Track Roller w/Shaft

20 Track Roller Collar

21-34 Main Spring Bracket (3" & 4”)
21-5 Main Spring Bracket (5”)

32  Spring Adjusting Bolt 2"

32A Spring Adjusting Bolt 5/8”

33  Spring Adjusting Bolt Washer 7%”
33A Spring Adjusting Bolt Washer 5/8”
34 Tracks &

35 Label 2.5 X 2” Warning Bracket

Types And Sizes Of Jamb Track Hardware

Part#

SS-3
SL-3
SJ-4
HJ-5

Description

Short Set (3” spring)
Standard Long (3” spring)
Standard Jumbo (4” spring)
Heavy Jumbo (5” spring)

Long Heavy Jumbo (5” spring)

Weight Width Height
350Ibs 19’ 6'6"-7’
350Ibs 19’ 7’-7'6”
450Ibs 22 7'-8
550Ibs 22’ 7’-8
650Ibs 22 8’-10’6”




Ti_LT UP JAMB TRACK HARDWARE

WARNING

y technicians who are

Do not try to install Jamb Track
an not be done.

ardware, we recommend that you are
ore than five years experience installing
are. Training and installing is at your own

WARRANTY

All-O-Matic, Inc jamb track hardware is warranted against defects in materials and
workmanship for two years. Any part or parts of hardware found to be defective
within this period shall, at the manufacturer’s option, be repaired or replaced free
of charges, F.O.B. Our factory.

The above warranty is in lieu of all other warranties, expressed or implied, and
shall be considered void if visible evidence implies, recommended installation
procedures and maintenance instructions were not followed.

AL

WWW. ALLOMATIC.COM

TiLT UP JAMB TRACK HARDWARE

OVERHEAD GATE HARDWARE



